20204 FA3FHA 2020%7A19R(H) 1185559 ~ 13KF40% (1IR45%) NIARIES - AXABY —7

TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
el FEEY 2 0 0 2 2 6 12 9 3
e]d GOUT 2 1 0 0 2 0 5 4 1
[ MvPETHE) | KERK 3@E |
| K2 | xAmE 15| XEBERK 2% \ \ \ \ \ |
[ MVPEEF) | A& BA 6EE |
[ BagF | ERA s | &-7 ] - R - \ \ \ |
BT EE¥ 11 ANEBRA 31| KAEA 66
HERF &4 BT 11 EBRF 6-7
L Ra—1LX
TIE 28 1 2 3 4 5 6 7 8 9 10 11 12 13 14 T2 & E| o & & X
1 EES E £33 Plssid UEE=T plisgm | 3 1 409
2 I E B UEE=I R BEIT (1) A% (1) 2 1 1 2 1 .293
3 AR BE ExR (2) =R BRI (1) £2 (2 3,211 1 313
4 SN =1 7R Bk h2 (1) 301 1 11 340
5 ek BOAE | = hR R BT 3.1 1 1 .225
6 il BK gt 1 143
7 K iE R Ik =R 2 11 241
8 RN KEE =R 1 1 .075
9 KEBK =X (2 =% 2 2| 1 2 1 238
10 =% = POEk =R = 2 1 1 1 151
11 A =% tgm gl =% ®E (1) 30 2 1 301 172
TOTAL[25] 9 2 11| 3| 5|10| 3  .237
%I GOUT
fIIE | RFE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 & WIA EER EER =% =
2 k4T = =ik =ik 2 9 1/ 1] |2 | 465
3 aiTE ==n k11 =3 KERKX ()
4 kT PPN PoE s (1) 3 14 3 [ 31 2 431
5 aiT#E R F2 F (1) KA H
6 FEEaE ] Bk HE LB 1 4 1 260
7 k% —=n FEEk =ik
8 CEIE) PaER =ik S L L T [ [ ]
9 EiTE —3a o3k R
HEEEEN
HEEEEN
TOTAL
6 21 4 1] 4/ 3 2 471




